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QUESTION 1

What will the following command accomplish in Linux? fdisk /dev/hda 

A. Partition the hard drive 

B. Format the hard drive 

C. Delete all files under the /dev/hda folder 

D. Fill the disk with zeros 

Correct Answer: A 

 

QUESTION 2

Which of the following tool enables a user to reset his/her lost admin password in a Windows system? 

A. Advanced Office Password Recovery 

B. Active@ Password Changer 

C. Smartkey Password Recovery Bundle Standard 

D. Passware Kit Forensic 

Correct Answer: B 

 

 

QUESTION 3

Amber, a black hat hacker, has embedded a malware into a small enticing advertisement and posted it on a popular ad-
network that displays across various websites. What is she doing? 

A. Click-jacking 

B. Compromising a legitimate site 

C. Spearphishing 

D. Malvertising 

Correct Answer: D 

 

 

QUESTION 4
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JPEG is a commonly used method of compressing photographic Images. It uses a compression algorithm to minimize
the size of the natural image, without affecting the quality of the image. The JPEG lossy algorithm divides the image in
separate blocks of____________. 

A. 4x4 pixels 

B. 8x8 pixels 

C. 16x16 pixels 

D. 32x32 pixels 

Correct Answer: B 

 

QUESTION 5

In handling computer-related incidents, which IT role should be responsible for recovery, containment, and prevention to
constituents? 

A. Security Administrator 

B. Network Administrator 

C. Director of Information Technology 

D. Director of Administration 

Correct Answer: B 
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